Lattice Multiplication (A)

Use lattice multiplication to find each product.

1 5 4 2 5 9 4 8 6 6
9
9
7
9
15425 x 9979 = 94866 x 4912 =
5 0 4 2 9 4 3 9 9 4
9
0
8
3
50429 x 9083 = 43994 x 4651 =
6 6 0 2 4 7 2 6 71 4
9
5
5
5
66024 x 9555 = 72674 x 8517 =
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Lattice Multiplication (A) Answers

Use lattice multiplication to find each product.

15 4 2 5 9 4 8 6 6
014 A3 T T4 ] 30T 2 12 7 .
1L 9,/ 35,6,/ 8,/ 5 4,6,/ 6, 2 4,/ 4
04 A3 1 4 8 N3 A7 5 15 7
s, 9 s, 6, 8,5 o, 1,6, 2 4 4
013 A2 1 A3 ) 4 0 10 710 /10 /10 ] 4
3,1 5 8, 4, 5 s, 9 4,8, 6, 6
04 A3 A0 A4 A0 T AT 1 A,
o 9/ s,/ 6,/ 8,/ 5 o 8,/ 8,/ 6, 2, 2
2 6 0 7 5 § 1 7 9 2
15425 x 9979 = 153,926,075 94866 x 4912 = 465,981,792
5 0 4 2 9 4 3 9 9 4
2 10 3 T T8 ] 9 LT T3 T3 T A,
a5, 0, 6, 8,/ 1 2 6, 2 6 6 6
0 /10 /10 /10 /10 7 ¢ 2T A5 5 12 6
s, 0/ 0 0 0, 0 o 4, 8, 4 4/ 4
2 03 AT AT > T A A8 2 ) s
8, 0, 0, 2, 6,/ 2 4, 0,5, 5, 5,0
10 1 10 A2 ) 4 0 10 /10 /10 /10 ] 4
o s, o 2 6 7 o, 4, 3, 9 9 4
46 6 0 7 I 6 0 9 4
50429 x 9083 = 458,046,607 43994 x 4651 = 204,616,094
6 6 0 2 4 7 2 6 7 4
55 10 10 13 5T 4 A5 13 ] 6
o, 4,/ 4,/ 0,8,/ 6 o, 6,/ 6,/ 8,/ 6, 2
3 3 10 A1 12 7 s 3T 3 A3 12 ] s
3,0/ o0 0 0 0 1 s, 0 05,70
3 3 10 A1 12 7 s 0 /10 710 710 /10 ] 4
o, o,/ o 0 0, 0 8, 1,/ 2/ 6,/ 1,/ 4
33 0 A1 12 7 s s AT 4 8 A2 ) 4
8, o, o, o 00 o 9 4 2, 9, 8
5 9 3 2 0 6 4 4 5 8
66024 x 9555 = 630,859,320 72674 x 8517 = 618,964,458
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